Tg) =
r‘\! -
=
=
2114116118 ||0|l#]n s
1 —
~M
1)(3)(5)(7)(o)[+] &
2
. 153 N
;—l* [ T
7N
i * Flat Cam
Offset Cam — e Hyany
g \E—}){ § L | Q:}_'X‘ B8
5q 8|:8D'|iw: 2] = e



camdru
Text Box
Offset Cam

camdru
Text Box
Flat Cam


Package Contents:

A. 1 x ML51PA lock

1 x Rubber gasket

1 x Rubber ring washer

. 1xM16 nut
1 x Cam governor (limits cam to 90°)
2 x Cams (1 flat, 1 offset)

. 2 X M4 washer

. 1 x Cam fixing bolt - M4 x 10mm

I. 4 x Upper lock fixing bolt options to suit door thicknesses;

e 1-3mm doors - M4 x 10mm

e 3-13mm doors - M4 x 20mm

* 13-18mm doors - M4 x 25mm

* 18-23mm doors - M4 x 30mm

IOMMUOw

==


camdru
Text Box
Package Contents:

A.  1 x ML51PA lock
B.  1 x Rubber gasket
C.  1 x Rubber ring washer
D.  1 x M16 nut
E.   1 x Cam governor (limits cam to 90°)
F.   2 x Cams (1 flat, 1 offset)
G.  2 x M4 washer
H.  1 x Cam fixing bolt - M4 x 10mm
I.  4 x Upper lock fixing bolt options to suit door thicknesses;
• 1-3mm doors - M4 x 10mm
• 3-13mm doors - M4 x 20mm
• 13-18mm doors - M4 x 25mm
• 18-23mm doors - M4 x 30mm




